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Task one

The chart is a colomn graph (0.25)

Its elements : Title / unit/ vertical axis/ horizontal axis (0.25/1)
The description of the chart

1. In February, revenue decreased slightly To 14,690.

2. By March, there was a slight rise in revenue of 1,315.

3. In April, there was a dramatic climb of 8,995.

4. In May, there was a steady increase of 3,000.

5. In June, there was a slight fall to 27,500.

6. And in July, it stayed the same At 27,500.

7. In August, it went up gradually By 1,500.

8. In September, there was a sharp Jump in revenue of 6,000.
9. In October, it increased sharply To 41,500.

10. Whilst in November, revenue dramatically rose by 13,500.
Task two

Identify whether the given term is an abbreviation, acronym, or initialism then define
their full form (0.5/1)

e Max. (Abbreviation) = Maximum

¢ VPN. (Initialsm) = Virtual private Network

e SMS. (Initialsm) = Short Message service

¢ Info. (Abbreviation)= Information

¢ ADSL. (Initialsm)= Asymmetric digital subscriber line

e LED. (Acronym)= Light emitting diode

¢ \VoIP. (Acronym)= Voice over internet protocol



¢ DC. (Initialsm) =Direct current

* RAM. (Acronym)= Random access Memory

¢ \/ol. (Abbreviation) = Volume

Task three

Use the indicated conjunctions to link the sentences bellow (0.5/1)

(whereas, And, but, Although ,So that, Nor, while, And then, in order to, Because)

1.Researchers conducted several experiments In order to (purpose) test their
hypothesis.

2.Some people believe that technology has improved our lives, While (contrast) others
argue that it has caused more harm than good.

3.Globalwarming is a serious issue, And (addition) it requires immediate action from
governments and individuals.

4.Some students prefer to study individually, Whereas (contrast) others work better in
groups.

5.Learning a foreign language can be challenging, But (opposite) it is also very
rewarding.

6.She failed the test Because (reason) she didn’t study enough.

7.Although* (contrast) he didn’t have any previous experience, he was still offered the
job.

8.He completed his master’s degree, And then (sequence) he started working on his
PhD.

9.t is essential for people to get vaccinated So that (result) the spread of infectious
diseases can be prevented.

10.He didn’t get the job, Nor (negative) did he receive any feedback on his application.
Task four

Write a small paragraph describing your 1st year experience In studying networks and
telecommunication. ( advantages, obstacles ....)

¢ Put between brackets the topic sentence (p1) and the concluding sentence (p1)

¢ Put a line under your supporting sentences (2p)

* The correct use of conjunctions (1p)



